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3N 488 -0.3 -4.3 -5.5
oA GDP CHH| ZHE=X| HIE -7.8 -9.1 -19.3 -15.0 -8.9
GDP CHH| Z&=X| HIE -10.9 -13.9 -14.5 -10.9 -10.0
GDP CHH| Y1 HiE 103.5 103.1 109.4 126.7 146.3
BN 8¥E 1.6 2.5 0.3 -3.1 1.7
goez GDP CHH| XHE=X| HIE -4.0 -3.7 -5.1 -8.0 -7.8
GDP CHH| dd=X| HIE -10.3 -9.6 -11.8 -10.3 -10.3
GDP | &1 HIE 69.2 72.7 75.6 87.8 100.2
3N 985 1.8 1.5 -1.0 -b.3 1.7
OlERR GDP CHH| XHE<X| Hig -4.0 -2.9 -3.7 -4.1 -3.7
GDP CHH| BY=X| HiE -1.5 -1.4 -2.8 -1.9 -3.3
GDP CHH| Y1 HlE 106.7 103.9 106.2 116.6 119.2
M| 8¥E 4.1 3.6 0.9 -3.8 0.2
ATl GDP CHH| XHE=X| HIE -0.1 -0.8 -6.5 -9.9 -7.8
GDP CHH| Z&=X| Hig -8.9 -94 -8.9 -4.1 -3.7
GDP | YEEx HIE 39.1 35.8 39.7 53.3 60.5
4N 985 3.8 3.0 1.0 -5.7 4.2
= GDP CHH| XHEX| HIE -2.0 -0.9 -1.0 -1.1 -2.7
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3. A2LNY S7t WHL7| TKsY

O 2020 S0{ G20 107 =1t HRE MWERZ| =7t 2% WEAPF 3A Aotz YRR HIZ0| 2
FOZ HSotRClH, 20203 O Be=KIQt MKl 27t Bk 0|F0X = He dog I ¢A

FZL9 2RECZ Qst MERY| 7tisd2 HoF EY
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W PSEON -4.0 -4.2 -8.7 -8.7
PErsEoN| -7.9 -8.6 -95 -9.5

! W8sXl= &M GDP CHH[Y
Xt2: IMF(2020. 10), “World Economic Outlook”
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(E 5) G20 MTi= & HRY MEeVI= F2 M XE 0|

(TH]: %)

e o m m me a me me m
FEE 11.8 16.7 20.4 411 1.7 463 60.4
s Za=X| -6 7 -4.7 -4.7 -3.7 -2.6 -2.1 1.8
K| 1.2 -1.4 -4.6 -5.1 -1.6 -1.2 —3.7 -9.2
HYEE 66.9 67.9 79.3 81.2 90.5 89.7 88.6 114.6
FHLIC ZAEX| 0.8 0.1 -2.9 -3.6 -2.8 -2.5 -2.0 -2.0
WISEON! 0.8 -0.6 -2.0 -3.7 -0.3 -0.7 -0.6 -16.5
HEE 64.5 68.8 83.0 85.3 98.3 98.0 98.1 118.7
oA PEPSEIN -0.1 -0.7 -0.6 -0.6 -0.8 -0.6 -0.7 -1.9
X -3.8 -4.0 -b.7 -5.9 -2.0 -1.7 -2.0 -4.5
HEE 64.0 65.5 73.0 82.4 65.0 61.7 59.5 73.3
=Y RSN 6.9 5.7 58 5.7 7.8 7.4 7.1 58
X -0.9 -1.0 -1.1 -2.7 1.2 1.3 1.3 -b.8
HEE 175.3 183.2 200.9 207.7 234.5 236.6 238.0 266.2
U= GeX| 47 2.8 2.8 3.9 4.2 3.6 3.6 2.9
WISEON! -3.5 -4.0 -6.7 -8.0 -3.3 -2.5 -3.0 -12.7
HEE 274 26.9 30.0 29.5 40.0 40.0 419 48.4
o= G 0.9 0.2 3.5 2.4 4.6 45 3.6 3.3
K| 1.6 1.2 0.4 1.2 2.3 2.7 0.6 -1.0
FYEE 41.5 494 63.3 74.6 86.2 8b.7 85.4 108.0
= G| -3.3 -3.9 -3.3 -3.2 -3.5 -3.9 -4.0 -2.0
A& -5.2 -7.1 -8.7 -7.3 -2.6 -2.3 -2.2 -14.0
HEE 64.7 73.7 86.8 95.5 105.7 106.9 108.7 131.2
o= FaK| -5.1 -4.7 -2.6 -2.9 -1.9 -2.2 -2.2 -2.1
A& -2.9 -4.7 -6.5 -8.1 -4.3 -b5.7 -6.8 -156.0
HEEM 103.9 106.2 116.6 119.2 134.1 134.8 134.8 161.8
O[EHZ] PE SN -1.4 -2.8 -1.9 -3.3 2.6 2.5 3.0 3.2
P PSEON -2.9 -3.7 =4.1 -3.7 -1.8 -1.9 -1.3 -3.8
HEE 35.8 39.7 53.3 60.5 98.6 97.6 95.5 123.0
AOI K| -9.4 -8.9 =4.1 -3.7 2.7 1.9 2.0 0.5
X -0.8 -6.5 =©¢) -7.8 -2.5 -2.4 =-3.1 -7.3
HEE 103.1 109.4 126.7 146.3 179.3 184.8 180.9 205.2
A ZAX| -13.9 -14.5 -10.9 -10.0 -2.5 =30 -2.1 =7.7
X -9.1 -19.3 -15.1 -8.9 4.8 4.0 3.5 85
HYEE 72.7 75.6 87.8 100.2 126.1 122.0 117.7 137.2
Z=8Z G| -9.6 -11.8 -10.3 -10.3 1.3 0.4 -0.1 -3.1
K| -3.7 5.1 -8.0 -7.8 -0.4 -0.1 0.5 -4.5

F 1) HEER ZM+Kl= GDP CjH| HIZ0|H, E4=Xl= & GDP CHH| Hig
2) 20204 Atz= IMFS| 20204 102 ISX|Y
3) SGXMIE = WELY| W=
Xt=: IMF(2020. 10), “World Economic Outlook”
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24t 3= Fx7E IWE7 |2 O|XIX| =Dl otttz 215w

LH9 542 I=56t= 250N S0 FREE
OI ME REY 7IS40| =20, 222 O|=2 HIRSt FL= xige| 45 SAl 0[2{et M0f|A O|siE
« RELi2}, G=, 0=9 3R EH 20113 AHKE7t 4EE0(| 20102 2012H0) Hlol 28t 1%p Ole =%
(& 6 D)
(B 6) 8t=, g=, 0= AHKEI HEE F0|
(T %)
T=
st= | 3.0 2.7 2.9 3.2 3.8 4.0 43 40 3.0 24 1.6 1.7
A= 3.3 35 3.1 3.3 4.1 4.4 4.7 4.7 35 2.7 24 27
o= 24 1.8 1.2 1.3 2.1 34 3.8 3.3 2.8 1.9 1.7 1.9
CHA S7| ohH 45EY
xtﬂ BIS
O otH, 22|L{2te| ZR FZLH9 FSH0|A HOLIHt: Q17 UEst {7t HE [IE ARSIEE 2 JI7I1=
Qlolf G20 CHE MTIZHLC} HHMO= JHItEA MEEA HIZ0| 45 AC=E MUL|T =0, ZEEH &
2| 2ot =07t 2A5Hx[0{0F g A
* IMFE 279 42 20204 I S0 Rt 2025E7K| S0SHLE 21816] B71E AC2 MUSIRU=
o, P2Ltiel B IV 7K HE o= 0jEE
(B 7) G20 MZI=ar HEER] Hg MY
2 %, %p)
- 2020 w2 | oo | s | ows |200-205
46.3 60.4 70.2 74.4 75.0 73.6 70.9 10.5
7H|—H:f 88.6 114.6 115.0 114.7 112.8 110.0 106.2 -8.4
oatA 98.1 118.7 118.6 119.9 121.3 122.3 123.3 4.0
= 59.5 73.3 72.2 68.5 65.5 62.6 59.5 -13.8
O[EfZ 134.8 161.8 158.3 156.6 154.9 153.8 152.6 -9.2
U= 238.0 266.2 264.0 263.0 262.8 263.0 264.0 -2.2
ot= 419 48.4 52.2 55.8 59.3 62.3 65.0 16.6
AQI 95.5 123.0 121.3 120.4 119.3 118.1 118.8 -4.2
o= 85.4 108.0 111.5 113.4 1156.3 116.4 117.0 9.0
o= 108.7 131.2 133.6 134.5 135.2 136.0 136.9 b7

X2 IMF(2020. 10), “World Economic Outlook”
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